A M E R lT Arizona's Statewide Achievement Assessment
Z for English Language Arts and Mathematics

Grid-in Item Response Type

One of the item types that exist on the paper versions of the math AzZMERIT tests are grid-in response
items. The item’s response grid looks slightly different at different grade levels, but the general response
area looks like the following image.
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A few questions have arisen about the proper way to respond to these item types. The first has to do with
where to begin a response. On these items, blanks are generally ignored. This means that students can
left or right justify their response, or place it somewhere in the middle.

These responses will all be scored as equivalent.
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The other question that has come up is how to grid a fractional response, specifically mixed numbers. In
this case there are several options that will all be scored equivalent. Taking the example where a correct
response would be 1 %%, all of the following would be scored as correct.
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Note that in the first example (that of the mixed number) the space between the ones is important.
Without this space the response would be scored as eleven-halves. Again, in any of these three shown
responses, which column the student chooses to begin their response in does not matter.



